
 

 

myF : mikg;Gfs; 

,t;thuj;Js; ngw;Wf;nfhs;sf; $ba fw;ww;NgWfs; : 

 ftuhaj;ijAk; Neu;tpspk;igAk; gad;gLj;jp mbg;gil xOf;Ffs; ehd;if 
mikj;jy; 

 rkhe;ju NfhLfisf; nfhz;l Neu;Nfhl;Lj; jsTUf;fis mikj;jy; 

khztu; nra;a Ntz;ba nraw;ghLfs; : 

 fzpj ghlk; gFjp II ghlg;Gj;jfj;jpd; gf;fk; 123> 124 Mfpatw;iw ed;F thrpf;f. 
 xU Gs;spia itj;J O vdg; ngaupLf. 
 ftuhaj;jpy; xU khwhj; J}uj;ijg; ngWf. 

 ftuhaj;jpd; $u; Kidia O tpy; itj;J tl;lnkhd;iw tiue;J nfhs;f. 

 ghlg;Gj;jfj;jpd; gf;fq;fs; 125> 126 I ed;F thrpj;J nraw;ghL 2 ,d;  
gbKiwfisg; gpd;gw;wp xU Neu;Nfhl;bd; nrq;Fj;J ,Urk$uhf;fpia tiuf. 

 ghlg;Gj;jfj;jpd; gf;fq;fs; 126> 127 I ed;F thrpj;J nraw;ghL 3 ,d;  
gbKiwfisg; gpd;gw;wp xU Neu;Nfhl;bd; rkhe;ju NfhLfis tiuf. 

 ghlg;Gj;jfj;jpd; gf;fq;fs; 127> 128 I ed;F thrpj;J nraw;ghL 3 ,d;  
gbKiwfisg; gpd;gw;wp xU Nfhz ,Urk$uhf;fpia tiuf. 

 ghlg;Gj;jfj;jpd; gapw;rp 28.1 ,w;fhd tpilfis vOJf. 

 Nkyjpf tpsf;fq;fSf;fhf fPNo jug;Gl;Ls;s ,izaj;js ,izg;Gf;fisg; 
gad;gLj;jpf; nfhs;sTk;. 

 ,r;nrayl;ilapd; ,Wjpapy; toq;fg;gl;Ls;s fzpg;gPl;L tpdhf;fSf;F tpilaspf;f. 

 midj;J tpdhf;fSf;Fkhd tpilfis cq;fs; ghl Mrpupauplk; toq;fp 
rupghu;j;Jf; nfhs;f. 

 

Nkw;gb nraw;ghLfSf;Fg; gad;gLj;jf;$ba Gj;jfq;fs;> Website, LMS 

ghlk; fw;wy; cgfuzq;fs; : 

ethaksalawa :  https://youtu.be/tPxFD723ZC4  

 

පළාත් අධHdපන  දෙපාර්තදේන්තුව සබරගමුව - සති පාසල 

 

juk; 10 thuk; 41 

fzpjk; 

rgufKt khfhzf; fy;tpj; jpizf;fsk; - thuhe;j ghlrhiy 

https://youtu.be/tPxFD723ZC4


 

 

Youtube :   https://youtu.be/4NZ8EO57znU  

   https://youtu.be/DTFmod7093o  

 

 

 

 

 

fzpg;gPL : 

1. AB = 6 cm MfTs;s Neu;Nfhnlhd;iw tiuf. A kw;Wk; B Mfpatw;iw ikahff; 
nfhz;L 4 cm Miuahff; nfhz;l ,U tl;lq;fis tiuf. 

2. PQ = 6 cm MfTs;s Neu;Nfhnlhd;iw tiuf. A kw;Wk; B Mfpa Gs;spfSf;F 
rkJ}uj;jpy; mikAk; xOf;if tiuf. 

3. 6 cm MfTs;s Neu;Nfhnlhd;iw tiuf. me;Neu;Nfhl;bw;F 3 cm J}uj;jpy; 
mike;Js;s xOf;fpid tiuf. 

4. Neu;Nfhnlhd;wpd; nrq;Fj;J ,Urk$uhf;fp njhlu;ghd mwpitg; gad;gLj;jp 
9.5cm  ePsKs;s Nfhnlhd;iw rkdhd 4 gFjpfshf gpupf;f. 

5. (i)  PQ = 6 cm MfTs;s Neu;Nfhnlhd;iw tiuf. 

(ii) P𝑄̂R = 1200  MFkhW Nfhzj;ij mikj;J QR = 7 cm MFkhW R vDk; 
Gs;spia mikf;f.  

(iii) Q kw;Wk; R  Mfpatw;wpw;F rkJ}uj;jpy; mike;Js;s Gs;spfspd; xOf;fpid 
mikj;J mJ ePl;lg;gl;l PQ re;jpf;Fk; Gs;spapid S vdg; ngaupLf.  

(iv) PQ ,w;F rkhe;jukhf R  ,D}lhf Neu;Nfhnlhd;iw mikj;J NkNy (iii)  ,y; 
tiuag;gl;l xOf;fpidr; re;jpf;Fk; Gs;spiaT vdg; ngaupLf.  
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